Composite Functions - Practice (and solutions)

For the given functions f and g, find (answer on the back)

(a) (fog)(z) (b) (g0 f)(z) (c) (f o f)(z) (d) (go g)(z)

r+1 r—1
1 >
4 f(l‘)=1+1—,~ 9(z) =z~

For each of the following problems, show that (f o g)(z) = (g o f)(z) = =.



3. f(z)=— g(z) = —
L @)= @ =25
Answers

1a) f(g))=2Bx)+3=6x+3 23 f(g))=J(x>)=x
b) g(f(x))=3@2x+3)=6x+9 b) g(fx)=(\x) =x
0 F(f0)=22x+3)+3=4xt+9 O fFE)=VVx=1%

d) g(9(x)) =3(3x) =9 9 9(9() = ) =x*

3a) f(g) = Ex+1§+1 = —x

b) g(F () = E:%ﬁ 1
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4a) f(g(x)=(x?+ (xlz) _

b) g(f(x)) = (x +i)2 g x4+i:2+1
IR e

d) g(g(x)) = (x2)2 = x?



